EARAROBEEIERT — 2 N— IBISH —F

2013FE5R1H (k) 3EIEHZE3H

Il S>C154 C15 45%—M% EEE R
[AE4£] 1% :130,000 M  23%&:24,000”  33%&:9,000H ~ 4#%:6,000H” / 5&:0H
B\ ®RBE mEBR Mk HE BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
tlqlq] v=FmE="H M4 sﬁgﬁoﬁl 1:(3_0).8 =1-1-1 391 — | 2 | 461 Ei@é (BEE)
LY IINIF— B:T)wIATRA (+6) HRESHH EVRN)—FK—-XF>F
olglg|Zyv¥aiNT— # o4 ;ﬁék 1:(362).1 2222 [40.3| — | 1 | 478 zggﬂz (BHE)
L:FREy JINT— B:T74—-<IKLZX -6) 2l /T
3 NET V% o4 é—*élf)ﬂ 1:32.9 6-6-6-5 |39.5| — 3 485 gmiﬁl (BHE)
. 4 N v
LvinyELHTT BYOXEATR @ | s
4 0| ALY A 4 ’sr’i'l;k 1:(333).6 3-3-3-3 |[41.6| — | 4 | 484 %a{%z}; (BHE)
RIS A~ AL kT — ) SRS —v28Y
51809 SIWIN—S A= 4 6 57%%%?127&&5 (12:314/.21) 5-5-4-4 | 41.4| — 6 468 E?ﬁég (BEE)
vV by THY B:TSFFN—h (-1 THELS
6 4|2y Tvb # 5 Qﬂ?%*'”ﬁ 1:(365).3 7788 (4.3 — | 7 | 459 ?(%?A; _(?f}%)
RV THTIAL R B:FLTTFTT— © =R
7177/ 8v>avy%2 oo | Bigit R 8-8-7-7 |[41.5| — | 9 | 429 zéig (&)
RN—HgY—YTrh B:ORTEHL 9 1S %
8l5|5| FVIER—7 6 7 || DI e 4-4-56 (429 — | 5 | 4% gggg (&)
R:T5yok—y BiArO-FK O s mm
9 6| 7TI-TAFv> o4 | BEAEZ 1:(366).9 9-9-9-9 |42.5| — | 8 | 413 (g!;\_(i&f%
R:E/TIY R B:RY—3>A4Ta— -3) TS
® 1 — @B
13—4— 1,8,2,5,9,3,4,7,6
2o =7r= 1,8,2,5,9,3,4,7,6
J=7r= 1,8,2,9,5,3,7,4,6
AT =gr= 1,8,2,9,3,5,7,4,6
[ RN
B R 1 240M 74K 1-8 110 & 1-8 130M &R 1-3-8 160M
% B 1 1004 =3 150 B & 1-8 130 EE 1-8-3 370
8 100 3-8 180H BB 1-8 200M
3 100M

ABICOVWTRDTEEERROODE. TR LIV,




